Maths Lesson 5

Fluency

Reasoning

Problem Solving

Orderthe following amounts pladng
< or > between them.

£25.62, 2657p, 2567p.

Robbie buysa toy car for 39p, a
yoyo for £1.05, three sweets for 30p
each and a chocolate barfor 47p.
Does he have enough money to pay
with a £5 note?

Martina buys a jacketfor 2165p and
a t shirt for £9.99. Hamid buysa
coat for £32.00. Who spendsthe
most?

Which would you rather have, three
quarters of £2.40 or one quarter of
£67?

Explain your reasoning.

Which wouldyou rather have, five 50p
coinsor 12 20p coins?
Explain why.

1 chocolate bar costs the same as 4
sweets.

4 sweets costthe same as 2 stickers.
1 sticker costs 30p.

How much does the chocolate bar
cost?

Choose a route through the money
maze. You can only go on each
square once.

Can you find the route that makes
the highest amount of money?
Which route makes the lowest
amount of money?

Lola and Jamal are sharing some
coins. Lola gets half the amount of
Jamal. Which coins could theyeach



